RA TECHNIK

YANASE

Ersatzteilliste

SCHNEEFRASE 9-16D

Seriennummer:
KMO06

www.yanase.at www.ra-technik.com




KMO6

A=A I~

O o o O

U oo

KMO6O OO0 O

re




gogobooooooan

RN
gobooobboodbbuooobbooobboooobo

oo
oo gguo

gooo
gobobooooboobooooobobboooobobuoooobbbuoouooooog
g oooooon
gobooobbooobobooobooboo

gooo
OO0000O00b000b00o0obDo0o0ooDb0ob0b0o0obOo0obOoobDooDbUobDEO!
gobodoiygoobooobboooo

gooo
gobobooooboooobooobboobbooobboobobouoooboboo
gobooobboodbbuooobbooobboooobo



KMO6O O OO

OOO00000000O0 e, 2005
OOOOD e 6019
OOOOOO0 e, 1001 15
0 160017
OO00O000000 e, 1801 21
I 2201 23
OOO0O000O0 e 2411 27
OODOOO e e 280 29
O O O e 300 33
OOOOL e 340 35
0 36

2007.7



KMO6 DD OOOODOOOOO

)EEE

NS I=l==]
) EEE)

1,’..& 9-16D




OOoo0o0ooooood KMO06

00 No. ugobagd gboboooooo goooo oo |ooooyooboao
1 | 0830 1540 gooooo 1 1.0
2 | 90200 40530 B goooooooswgo M10x 250 7TO 6 5
3 | 90200 40340 B goooooooswgo M8x 250 7T 10 5
4 | 83601 0015 ooooogo ¢ 15 4
5 | 92900 2205 goo 8x 18x 1.6 3 5
6 | 0830 1550 goooog 1 1.0
7 | 0830 1510 gogno DM700D 1 3.0
8 | 0830 7140 goooogno 1
9 | 9020045540 B gboooogooswgo M10x 30000710 2 5
10 | 90200 40330 B gbooobogooswgo M8x 2000 7T 13 5
11 | 08200 7180 googoog 1/74x 1/4x 74 1
12 goooboobobooboob |oboobo 2
13 | 0830 1570 goo 1 0.5
14 gooon M8 OOO4OOoO 6
15 | 9260 1206 goog M8 4 5
16 | 0830 1581 goooogooo 1 0.5
17 obooooooboobgon oooood 1
18 | 90200 40350 B goooooooswdo M8x 3000 7TO 4 5
19 | 90200 40330 B goooooooswgo M8x 2000 7TO 4 5
20 oooooooog ooooood 1
21 oooobogoobobooo oooooog 1
22 ooooooooooooboboooooONelyOO0DODOO 1
23 goooooooooooooooodONe2) DOODOODO 1
24 | 0830 1590 googo 1
25 | 08301 7102 oooooooogrzoin 1 0.5
26 | 0820 8790 goooodg 1
27 | 0820 7100 goooogn 1
28 pooooooooooOobOOoOOOOoOOooO|yOoobOonn 1
29 ooooooooooooooooooOoooo | ooboOooo 1
30 goooogooo gooood 1
31 goooboooobgon gooood 1
32 gooo gooood 2
33 | 0830 1622 gooooooog 1 0.5
34 | 0830 1630 gboooooboooo 1 0.3
35 | 0830 1853 oboooooooooooooon ¢ 8x 830L 1
36 | 90201 4032 ooooogo M8x 160 7TO 2 5
37 | 8380 2205 oooooo M8 2 5
38 | 0830 1661 gbooood 1 0.2
39 | 90101 401500 B goooooswoo M6x 1200 7TO 4 5
40 gboooboobobo gbooooo 1
41 gooooooboobooo oooooog 1
42 gboooboobooboboobod gbooooo 1
43 gogno gooood 4
44 | 0830 1641 goooobgooo 1 0.2
45 | 90201 4032 goooogn M8x 160 7TO 1 5
46 | 8380 2205 googoog M8 1 5
47 | 0830 1681 gooobgooboboo 1
48 | 90101 401600 B goooooswgo Me6x 160 7T0 5 5
49 | 0830 1691 gooobooboobo 1
50 | 929001 2204 ooog 6x 13x 1.0 1




KMO6 DD OOOODOOOOO

)EEE

NS I=l==]
) EEE)

1,’..& 9-16D




OOoo0o0ooooood KMO06

00 No. ugobagd gboboooooo goooo oo |ooooyooboao
51 | 9020040330 B goooooooswoo M8x 200 7TO 4 5
52 goooooobobbobooob |oboobo 1
53 | 0830 1840 ooooobooooo 1 0.4
54 | 90201 403201 B goooooooswdo M8x 160 7TO 2 5
55 | 0830 1860 oooooobooooobooboon | o 8x 210L 1
56 | 9020140330 B goooooooswdo M8x 2000 7T 1 5
57 | 90101401500 B ooooooswgo M6x 1200 7T0 5 5
58 | ESB0082 gooooboooog 1
59 | 08308732 MsSO O O 1
60 googo gooood 1
61 | 0830 1600 gooobgnboA 1
62 | 8360 1023 googoog 2
63 | 0830 1531 googoog 1
64 | 0830 1610 googoooos 1
65 | 8340 0015 goooon NG-79-0 1
66 | 812011012 goooogn WF12 1
67 | 9020 4896 ooooogo M12x 1601 P125I1 7T0 1 5
68 | 9020J 4564 goooooooo M10x 800 7T 1
69 | 9260 1208 gogno M10 1 5
70 | 0830 7090 oooooooon 1
71 | 90200 40340 B goooooooswgo M8x 250 7T 4 5
72 | 9410 1394 goooog 7x 7x 11 1
73 | 08100172 gboooogn 1
74 | 9020 455301 B oooooooooomswoo M10x 2500 7T 1




KMO6 D0 OO0

t*t 9-16D




Oo0ooo KMO6

00 No. ugobagd gboboooooo goooo oo |ooooyooboao
1 | 0820 1500 goooboooogon 1
2 | 9020 8047 ooooogoo M8x 900 7T 1 5
3 | 92900 2205 oogd 8x 18x 1.6 1 5
4 | 91601 6205 ooooogo M8 oono 2 5
5 | 8280 2216 LFOOoooooDg LFF1515 2
6 | 93600 2035 googo R35 1 5
7 | 0830 1300 googo 1
8 | 0830 1310 goooboooo 1
9 | 08301015 goooogn 1 3.0
10 | 0830 2010 goooogn 1 3.0
11 | 9410 1107 googoog 5x 5x 22 1
12 | 90200 4034 goooogno M8x 250 7T 6 5
13 | 92900 4275 goo 8x 22x 2.3 6 5
14 | 8380 2205 goooog M8 6 5
15 | 9010 40160 B goooooswono M6x 160 7TO 1 5
16 | 90200 403200 B goooogoooswdo M8x 1600 7T 3 5
17 | 7150 1101 gooobogooo B-45T 1
18 | 9360 1015 ooooon S15 1 5
19 | 0830 1421 gooobooobogon 1
20 | 92900 1207 oogd 12x 22x 2.3 1 5
21 | 9360 1012 ooooo S12 1 5
22 | 0830 1431 gooooooogon 1
23 | 9020J 40330 B goooooooswdo M8x 2000 7T 2 5
24 | 0830 1401 goooboooobod 1
25 | 0820] 1490 googooooog 1
26 | 8310 1021 gogno SA-210 W400P0O 1 0.5
27 | 8280 1206 googoog BM1220FB 1
28 | 08301 3013 goooboooobgn 1 0.8
29 | 0830 3024 gooobooobgon 1 0.8
30 | 90201 2068 goooogno M10x 10000000 2 5
31 | 8380 2206 googoog M10 2 5
32 | 90200 4032 goooogno M8x 1600 7T 1 5
33 | 8380 2205 goooog M8 1 5
34 | 0830 3031 gbooooooboooo 1 0.3
35 | 90200 403200 B goooooooswdo M8x 160 7TO 4 5
36 | 0830 2120 goooboooogon 1
37 | 08200 1910 gooobooobogon 1
38 | 8380 2205 oooooo M8 1 5
39 | 90201 4033 ooooogoo M8x 2000 7T 1 5
40 | 836011016 goooog 2
41 | 902[1 8039 ooooogo M8x 5000 7T 1 5
42 | 92900 2205 goo 8x 18x 1.6 1 5
43 | 91601 6205 goooogn M8 oo m 2 5
44 | 92601 2208 gogo Mi1o00 30 0O 6
45 | 9290 2205 goog 8x 18x 1.6 2
46 | 9020140330 B gboooogooswgo M8x 2000 7TO 2
47 | 08401 1260 googoog 1
48 | 9360 1015 googo S15 1 5
49 | 08401 2881 gooooGESH O 1
50 | 93801762 goooogooo 6202LLU 2




KMO6 D0 OO0

t*t 9-16D




Oo0ooo KMO6

00 No. ugobagd gboboooooo goooo oo |ooooyooboao
51 | 08200 1330 obooooobooBweod 1 0.5
52 | 8310 1323 gogno SA230 0000 1 0.5
53 | 08201 1402 ooooo 1 1.0
54 | 90201 4053 gboooogn M10x 2500 7TO 4 5
55 | 0830 2130 gooooboooog 1
56 | 90201 4054 gboooogn M10x 3000 7TO 2 5
57 | 929001 2206 goo 10x 22x 1.6 6 5
58 | 0830 1442 goooboobooboo 1 0.8
59 | 92901 8208 goog 15x 28x 2.50 M140 1 5
60 | 9300] 0241 goog 4x 32 1 10
61 | 92900 2205 goo 8x 18x 1.6 2




KMO6 0000000

|
|
g
v

[
N
o
D

125
_—® 124

T

0@

9-16D
tIre 10




Oo0ooooo KMO6

00 No. ugobagd gboboooooo goooo oo |ooooyooboao
1 | 0400 2670 ooooon 2
2 | 90801213 ooooooooo M4x 10 2 5
3 | 8380 2102 oooooo M4 2 5
4 | 05309110 oo 1
5 | 9260 1206 gogno M8 1 5
6 | 92900 2204 goo 6% 13x 1.0 2 5
7 | 9310 1117 goooogn 3% 25 1
8 | 9160 6205 goooogno M8l 300 O 1 5
9 | 9290 4275 goog 8x 22x 2.3 1 5
10 | 9310 1117 goooogn 3x 25 1
11 | 0810 7310 goooogn M8x 8 2
12 | 05800 3110 goog 2
13 | 9080 1214 googooooog M4x 12 2 5
14 | 0820 3103 goo 1 3.0
15 | 0830 3123 goooon 1 1.0
16 | 9130 3608 gbooooooboobgn Me6x 160 7TO 8 5
17 | 0830 7205 goooon 1 0.5
18 | 9150 10060 B gbooooobooooswog M5x 20 1
19 | 8060 3204 ugon M10 1
20 | 0820J 3300 ooooogo 2 1
21 | 0820J 3290 ooo 12-570 00 1
22 | 0810J 0331 ooog 1
23 | 92900 2205 goo 8x 18x 1.6 2 5
24 | 0810 7230 googo LHSA-8 1
25 | 8380 2205 googoog M8 2 5
26 | 08303192 goooog 1 0.3
27 | 92100 1205 ooooooooooobooog | M8 1 5
28 | 08201 3132 googooooog 1 0.5
29 | 9310] 1132 goooogn 5% 25 1
30 | 931011117 goooogno 3x 25 1
31 | 7050 3226 googo 1
32 | 08201 3380 ooooooooo@wooon) 1
33 | 08101 3140 gooooooog 1
34 | 08601 0510 goooooooo 1
35 | 08200 3270 ooooooo 1
36 | 90101 4016 goooon Mé6x 1600 7TO 1
37 | 08601 0520 oooooobooooooon 3
38 | 90801 122501 B goooooooooswog M5x 12 3
39 | 08201 7270 oo0oo0oogoAssy 1
40 | 08201 7370 goooog 1
41 | 8380 2104 goooog M6 1
42 | 92901 8204 goo 6% 12x 1.6 1
43 | 08201 7350 goooogn 1
44 | 0830 7256 googoog 1 0.4
45 | 08101 7240 gogn 1 0.3
46 | 93101132 goooogno 5% 25 1
47 | 90200 0037 goooogn M8x 400 11TO 1 5
48 | 9260 2206 gooo M8 30 U 1 5
49 | 0810 7260 googoog 1 0.3
50 | 92901 7206 goog 10x 18x 2.0 1

11




KMO6 0000000

|
|
g
v

[
N
o
D

125
_—® 124

T

0@

9-16D
tIre 12




Oo0ooooo KMO6

00 No. ugobagd gboboooooo goooo oo |ooooyooboao

51 | 08201 4920 goooboooboboo 1
52 | 08201 7280 ooooooooo 1 0.2
53 | 9020040330 B goooooooswgo M8x 200 7T 2
54 | 0830 7272 ooooogo 1 0.4
55 | 93601 1015 googo S15 2 10
56 | 9020140330 B goooooooswdo M8x 2000 7T 2 5
57 | 082001 3111 gooooboooog 1 0.3
58 | 08201 3150 gooobogoooobod 1 0.2
59 | 92901 4275 goog 8x 22x 2.3 1 5
60 | 9020J 40330 B gboboobogoooswgo M8x 2000 7T 2 5
61 | 93801 1367 goooobooo 62677 1
62 | 08601 0080 goooogno 1 0.2
63 | 838012104 googoog M6 1 5
64 | 92900 1204 goo 6x 12x 1.6 1 5
65 | 9270 1106 goooon M8-1L 1 5
66 | 8060 6203 goooogooo M8 1 5
67 | 90100 4020 goooon M6x 3500 7T0 1 5
68 | 9160 1204 ooooon M6 1 5
69 | 0860 0520 gooooooboobooo 1
70 | 0820J 3530 ooo 12-45P0 O 1
71 | 0600 3352 ooooogoo 1 0.5
72 | 9300 5228 ooo 3x 20 1 10
73 | 0820 6000 goo 12x 22x 1.6 2 5
74 | 533220 27461 oogoz20000 1
75 | 9290 1206 goo 10x 18x 1.6 2 5
76 | 93701 0208 gogno ES8 2 5
77 | 06000 3390 googo 1 0.3
78 | 93711 0210 gogn E10 1 5
79 | 06001 3340 googobooos 1 0.2
80 | 92901 2205 goo 8x 18x 1.6 3 5
81 | 93001 0217 goog 2.5x% 16 5 10
82 | 06001 3331 gooobognboA 1 0.2
83 | 0830 3520 gbooooooboobgn 1 0.3
84 | 9150110030 B gboooooooooswog M5x 12 2 5
85 | 0830 3550 oooooooon 1 0.3
86 | 0830 3510 oooooooon 1 0.2
87 | 9270 3106 ooooon L-8 1
88 | 929001 2205 ooog 8x 18x 1.6 1 5
89 | 806L1 8203 ooooogoo M8 1 5
90 | 82201 6301 goooog 1
91 | 06001 3321 ooooobooooo 1
92 | 0830 3230 gboooboobobo 1 0.5
93 | 92900 2209 goo 17x 30x 3.0 1 5
94 | 93001 0240 goo 4x 30 1 10
95 | 0830 3241 gboooboooboobgon 1 0.5
96 | 0830 3210 gboooboooboobon 1 0.2
97 | 0830 3220 gboooboooboobgn 1 0.2
98 | 902001 4033 goooogno M8x 2000 7T 4 5
99 | 8380 2205 googoog M8 4 5

100 | 567310 56121 goog 12-340 0 2

13




KMO6 0000000

|
|
g
v

[
N
o
D

125
_—® 124

T

0@

9-16D
.b’-t 14




Oo0ooooo KMO6

00 No. ugobagd gboboooooo goooo oo |ooooyooboao

101 | 0830 3251 gbooooobooooooo 1 0.3
102 | 93100 1132 gooobogon 5% 25 1

103 | 9160J 4205 ooooogoo M8 6 5

104 | 0830 3280 gooobooobobooo 2

105 | 0830 3540 gooooooogso 3

106 | 0830 7311 gboooogn 1

107 | 0830 7320 googoooo 2

108 | 0830 3300 gboooboobooobooboo 2

109 | 90201 40381 B gboooogooswgo M8x 450 7T 2 5

110 | 0830 7040 gboooboooboobgn 1 0.2
111 | 0830 7030 gboooboooboobgn 1 0.2
112 | 0830 3360 gooobognoA 1 0.4
113 | 9310 1131 goooogno 5% 22 1

114 | 9310 1116 goooogno 3x 22 1

115 | 0820 3370 gboooogos 1 0.2
116 | 0820 7260 goooogooo BL-8DL(U O O) 1

117 | 9160 4205L oooooooon M8(Od) 1

118 | 9080 122601 B gbooooobooooswog M5x 16 1

119 | 0820 7360 ooooo 1

120 | 0830 3530 oooooooode-sod 1

121 | 0820J 4930 gooobogoobobooo 1

122 | 9160 1204 ooooo M6 1

123 | 82400 2210 gogno 6% 22 1

124 | 9290 2204 goo 6% 13x 1.0 1

125 | 93000 0217 goo 2.5% 16 1

126 | 0820J 4940 goooboooobod 1

127 | 0820J 8591 gooobooogon 1

128 | 90101 401601 B goooooswgo Mé6x 160 7T0 2

129 | 08201 4911 goooobgooo 1

130 | 08201 4270 gooobgoobooboo 1

131 | 90101 401600 B goooooswgo Me6x 160 7T0 4

132 | 9290 8206 goo 10x 21x 2.0 2

133 | 08201 4280 gooobogooboboo 1

134 | 0820 7310 gooobogooo 1

135 | 92900 1206 oono 10x 18x 1.6 1

15




KMO6 OO0

16

v*t 9-16D




OOo0 KMO06

00 No. ugobagd gboboooooo goooo oo |ooooyooboao
1 | 0830 2252 gooooo 1 2.0
2 | 0830 2312 ooooooboooog 1 0.8
3 | 0830 2322 ooooooboooog 1 0.8
4 | 90601 1438 ooooogo A1-M10x 2500 7TO 4 5
5 | 8380 2206 goooog M10 4 5
6 | 0830 2331 gboooboobobo 1 0.2
7 | 9020 405301 B goooooooswdo M10x 2500 7T 2 5
8 | 0600 2350 goooboooo 2 0.3
9 | 9290 2206 goog 10x 21x 2.0 6 5
10 | 9160 4206 goooogn M10 4 5
11 | 9300 5273 goo 3x 16 2 10
12 | 0830 2150 gooo 230x 72x 34 2 0.5
13 | 06000 2410 googoo 2 0.5
14 | 0600 2450 gooon 2 0.4
15 | 030000170 ooooogo 2 0.8
16 | 93800 1724 goooogooo 6204LLU 12
17 | 2520 0350 goooon 12
18 | 9290 4276 oono 10x 25x 3.0 6 5
19 | 90200 405200 B goooooooswgo M10x 2000 7TO 10 5
20 | 05900 2210 ooooooboooog 1 1.0
21 | 0590 2220 ooooooboooog 1 1.0
22 | 9530 3202 ooooogo C-PT 1/8 2
23 | 0820] 2100 gbooobooobon 2 1.0
24 | 08100172 goooogn 2
25 | 9010 0054 googo M10x 3000 11TCO 2 5
26 | 9410] 1318 goooog 7% 7x 35 2
27 | 0840 2130 googooooog 2
28 | 9260 2208 gogn M1o00 30 O 2 5
29 | 0820 2090 goooogn 2

17




KMO6 DD DOOOODOOO

18

1,’..& 9-16D




O0o0oooooono KMO6

00 No. ugobagd gboboooooo goooo oo |ooooyooboao
1 | 08307152 ooooon 1 0.8
2 | 25500 2440 goooog 1
3 | 25500 2420 ooo 1
4 | 90101 4016 ooooo M6x 160 7TO 4 5
5 | 8120J 1006 goooogn WF6 4
6 | 06100 715201 3 googo 1
7 | 2550 2450 goooogn 1
8 | 0820 7160 goooogno 1
9 | 8340J 1001 googo C30-SG-12A 2
10 | 9080 1225 googoboooog Mb5x 12 5 5
11 | 05000 2290 gogoo 4 0.2
12 | 8380 2104 googoog M6 8 5
13 | 0830 1872 gbooobooboobooboo ¢ 6x 900L 1
14 | 83600 0013 goooogno ¢ 13 2
15 | 0830 7511 goooooooo 1 0.3
16 | 0830 7521 gooooooog 1 0.3
17 | 9020 4052 ooooogo M10x 200 7TO 4 5
18 | 8380 2206 gooooo M10 4 5
19 | 0830 8153 oooooo 1 1.0
20 | 0600J 8141 ooooobooooo 2 0.2
21 | 8380 2104 oooooo M6 4 5
22 | 0830] 8161 gooooooogon 1
23 | 08308173 gbooobooobon 1
24 | 0600 8180 goooogn 4
25 | 9130 3507 gboooboooboobon M6x 1200 7TO 4 5
26 | 8380 2104 goooog M6 4 5
27 | 0600 8190 googo 4
28 | 0830 8102 googo 1 1.0
29 | 90200 403200 B gboboobogoooswgo M8x 1600 7T 4 5
30 | 0740 8130 googooooog 1
31 | 0740 8500 goog 1
32 | 90101 300501 B goooooswhgo Mb5x 140 7T0 2 5
33 | 05601 2640 gooon 2
34 | 05600 2540 ooooogo 2
35 | 90801 1236 goooooooo M6x 12 2 5
36 | 8380 2104 gooooo M6 2 5
37 | 0830 8200 oooooo 2 0.4
38 | 838014106 oooooooon M10 4 5
39 | 0830 820001 2 gog 10x 16x 0.5 4 5
40 | 92901 4276 goo 10x 25x 3.0 2 5
41 | 0830 8461 ooooooooooooo 1 0.1
42 | 06001 8510 googo 1
43 | 0830 3812 goooogn 1 0.5
44 | 0830 3822 goooogno 1 0.5
45 | 9290 2205 goog 8x 18x 1.6 4 5
46 | 9020140330 B gboooogooswgo M8x 2000 7TO 4 5
47 | 0830 3832 googoog 1 0.4
48 | 0830 3841 googoog 1 0.4
49 | 9020 4032 goooogno M8x 1600 7T 4 5
50 | 8380 2205 goooog M8 4 5

19




KMO6 DD DOOOODOOO

20

1,’..& 9-16D




O0o0oooooono KMO6

00 No. ugobagd gboboooooo goooo oo |ooooyooboao
51 | 0830 3851 gooooo 1 0.3
52 | 0830 3051 ooooooooo 1 0.7
53 | 0830 3062 gbooobooood 1 0.7
54 | 9020040330 B goooooooswdo M8x 2000 7TO 4 5
55 | 902[1 4033 goooogn M8x 2000 7T 6 5
56 | 8380 2205 goooog M8 6 5
57 | 0830 8212 gogno 1 0.2
58 | 9130 3507 gboooboooboobon M6x 1200 7TO 7 5
59 | 9290 1206 goog 10x 18x 1.6 4 5
60 | 0610] 9520 gooo (0N 1
61 | 0830 8452 googo 1 0.3
62 | 90200 40330 B gboooogoooswgo M8x 2000 7T 2 5
63 | 0830 82000 1 goo 4
64 | 90200 40330 B goooogoooswdo M8x 2000 7T 2 5
65 | 92900 4404 ooo 6% 19x 1.6 7 5
66 | 0820 9500 goooog No.114x 60 1
67 | 0820 8230 goooboooobogn 1
68 | 9020J 403201 B goooooooswdo M8x 160 7TO 3 5
69 | 9020J 40340 B goooooooswgo M8x 250 7T 1 5
70 | 8380 2205 gbooood M8 1 5
71 | 0610J 9511 oood M8 1

21




KMO6 OO0

1,’..& 9-16D

22



OOo0 KMO06

00 No. ugobagd gboboooooo goooo oo |ooooyooboao
1 | 08302511 ooooooo 1 0.5
2 | 94100 1180 oooooooon 5% 5x 18 1
3 | 0830 1381 ooooo 1 0.4
4 | 92901 4276 ooo 10x 25x 3.0 1 5
5 | 90200 40510 B goooooooswdo M10x 160 7TO 1 5
6 | 824001232 gogno 10x 60 1 5
7 | 08200 2521 goooog 1 0.3
8 | 90201 40340 B ooooooooswdo M8x 2500 7T 4 5
9 | 8510 8204 90° DO OOobg1120 1/74PTx PFO O 1
10 | 92900 2205 goog 8x 18x 1.6 1 5
11 | 83800 4105 goooobooo M8 1 5
12 | 0600 2530 googoog 210L 1
13 | 0830 2541 googoo 12x 16x 210 1
14 | 8360 1016 goooog 2
15 | 0830 2561 gooooooon 1 0.2
16 | 9010 401600 B goooooswoo Mé6x 160 7TO 2 5
17 | 0600 2710 90° O OODboOooo.ed 1/4PTx PFO O 2
18 | 83400011 ooooon C30-BW-16-2 1
19 | 0600 2550 oood 1
20 | 0820J 2600 ooooooboboooon 1 0.4
21 | 92900 2209 ooo 17x 30x 3.0 1 5
22 | 9300J 0239 ooo 4x 25 3 10
23 | 92900 2208 goo 15% 28x 2.5 2 5
24 | 0580] 2630 googoooo 1
25 | 92901 4275 goo 8x 22x 2.3 4 5
26 | 0600 2891 45° OO0 1/74PTx PFO O 5
27 | 08200 2691 goooboooo 1
28 | 91601 6206 goooogn M1o00 30 O 1 5
29 | 0820 2670 goog 10-35wih 0 O 1
30 | 9130 3507 gboooboooboobgn Me6x 1200 7T0 4 5
31 | 082001 2610 gooobooobgn 1 0.5
32 | 06001 2841 googoo 980Lx PFO O 1 0.4
33 | 06001 2851 gooon 1200Lx PFO O 1 0.4
34 | 0830 2841 goooon 1600Lx PFO O 1 0.4
35 | 06001 2881 90° OO0 1/4PTx PFO O 4
36 | 85301201 goooon 1
37 | 08200 2651 gooooooooooDbo 1 0.3
38 | 93001 5228 ooog 3% 20 2 10
39 | 92901 4276 gog 10x 25x 3.0 2 5
40 | 82401229 gogno 10x 45 1 5
41 | 0830 2812 gooono 1030Lx PFO O 1
42 | 0830 2860 googo 1000Lx PFO O 1
43 | 08301 2842 googo 1670Lx PFO O 1

23




KMO6 DD OOQOQOOnO

1,,..& 9-16D

24



Oooooooo KMO6

00 No. ugobagd gboboooooo goooo oo |ooooyooboao
1 | 058005310 gbooooooooo 1 15
2 | 81102124 oooooo TC30458 3
3 | 0580] 5430 oooooo 1
4 | 93901 3405 oooooooooog 30205 1
5 | 0530 5370 Ooo0o0Oo2sx 130 2
6 | 94100 1179 gboogobooboo 7% 7x 60 1
7 | 7020 3206 gogno 1
8 | 9380 1125 goooboooo 6205 1
9 | 0580 5360 googooooog 1
10 | 9510 2060 oouon G60 1 5
11 | 0530 5330 goooobooo 1
12 | 0600 4300 gooo 1 1.0
13 | 94100 1320 goooogooo 7x 7x 45 1
14 | 0820 5351 goooogooo 1 2.0
15 | 9380 1126 gooooooon 6206 2
16 | 05300 5391 gooo 1
17 | 05305320 gbooooooboooo 1
18 | 90200 40330 B goooooooswdo M8x 200 7TO 3 5
19 | 709021110D | ODOOOOOONOSWOO M10x 25 2 30
20 | 9100J 4118 ooooooboooooooo M8x 12 1 5
21 | 9520J 1204 ooo PT1/2 1
22 | 9520] 1202 ooo PT1/4 1
23 | 812[] 1008 gboooogn WF8 1
24 | 9020] 4032 goooogn M8x 160 7TO 1 5
25 | 9020 4053 goooogno M10x 2500 7TO 1 5
26 | 9160 4206 goooogn M10 1 5
27 | 08301 4511 googo 1 2.0
28 | 9530 2202 goooogn B-PT1/8 1
29 | 06101 4520 googoog 1 3.0
30 | 95401 0015 googooooog AN15 1
31 | 955000115 gooobooobgn AW15 1
32 | 082005220 goon 1 0.8
33 | 938011726 goooogooo 6206LLU 2
34 | 06101 5440 0000noasox 840 1
35 | 082005450 0000030x 540 1
36 | 9410 1221 oooooooon 7x 7x 50 1
37 | 06001 4550 oooooo 1
38 | 92901 4286 god 10x 32x 3.0 1
39 | 90201 4052L gooobogoobobooo M10Lx 2000 7TO 1 5
40 | 92601 1208L goooobgn Mi1oLO 30 O 1 5
41 | 08201 4010 goooog 1 1.7
42 | 8380 2206 goooog M10 6 5
43 | 828011223 gogno 70B-3030 2
44 | 94101120 goooboooo 7x 7x 45 1
45 | 05801 5210 goog 1 1.7
46 | 90201 4053 goooogno M10x 250 7T0 1 5
47 | 9160 4206 goooogn M10 1 5
48 | 06001 4120 gooo 1 0.3
49 | 90601 1424 goooogno Al1-M8x 2501 7TU 7 5
50 | 016019510 goog 8x 25x 3.2 7 5

25




KMO6 DD OOQOQOOnO

1,,..& 9-16D

26



Oooooooo KMO6

00 No. ugobagd gboboooooo goooo oo |ooooyooboao

51 | 8380 2205 gooooo M8 21 5

52 | 92600 2209 oood Mi120 300 4 5

53 | 0610 4211L ooooooboooog 1 0.3
54 | 06100 4211R oooooooooog 1 0.3
55 | 90201 4032 goooogn M8x 160 7T 14 5

56 | 9410 1195 gboogobooboo 7% Tx 24 2

57 | 082015120 googo 2 0.7
58 | 90201 4032 goooogno M8x 160 7TO 4 5

59 | 08201 4310L googoog 1 0.5
60 | 08201 4310R goooog 1 0.5
61 | 828011123 gogoo 30x 34x 30 2

62 | 0610 5170 googoog 2 0.4
63 | 938011725 goooogooo 6205LLU 2

64 | 93601 2052 gocobooo R-52 2 5

65 | 01600 0100 gooooo 2

66 | 90601 3439 goooogn B-M10x 300 7T 6 5

67 | 83801 2206 gooooo M10 6 5

68 | 9020J 4074 ooooooo M12x 350 7TO 4 5

69 | 0530 5410 ooooogoo 1 0.2
70 | 9020J 4053 ooooogoo M10x 250 7TO 2 5

71 | 8380 2206 oooooo M10 6 5

72 | 8310 3040 vooQo SB-4000 w8000 2 0.5
73 | 90200 4055 gboooogn M10x 3500 7T 2 5

74 | 9290 4206 goo 10x 24x 2.3 2 5

75 | 0600 4130 oo 2 0.2
76 | 0600 4140 goooogn 2

77 | 9260 1208 gogo M10 4 5

78 | 91601 4256 gooobgooboboo M100 P1.2500 4 5

79 | 028015410 googoog 1

80 | 90601 1438 goooogno Al1-M10x 250 7T0 2 5

81 | 082019590 gbooobooboobooboo 1 0.2
82 | 90101 2003 goooboooogn Mb5x 12 4 5

83 | 9160112030 B goooooswomooooogno | M5 4 5

27




KMO6 D0 OO0

28

v*t 9-16D




Oo0ooo KMO6

00 No. ugobagd gboboooooo goooo oo |ooooyooboao
1 | 08206111 ooog 1 0.3
2 | 0810 2200 gooobogoobobooo 2
3 | 0830 6220 ooooboobool 1 0.3
4 | 06101 6230 ooo 1
5 | 8380 2104 goooog M6 4 5
6 | 0820 5150 gboooogn 3 0.2
7 | 0820 6210 oooooooo2 1 0.4
8 | 0610 6250 goo 2 0.2
9 | 8070 1004 goog WW-8 4 5
10 | 92900 2205 goog 8x 18x 1.6 4 5
11 | 9300 5228 goo 3x 20 4 10
12 | 0840 5030 gboooboooboobgon 1
13 | 06000 5111 googoog 1 0.5
14 | 0600 5210 goo 1
15 | 901040140 B goooooswono M6x 1000 7TO 6 5
16 | 0830 8664 goooogn 1 0.2
17 | 08200 5340 gooooo 1 0.2
18 | 9010 40160 B goooooswoo M6x 160 7TO 2 5
19 | 92900 9704 god 6% 18x 1.6 3 5
20 | 9060] 1422 ooooogoo Al-M8x 160 7TO 4 5
21 | 9260 1204 oood M6 3 5
22 | 8380 2205 goooog M8 4 5
23 | 0860 5330 gboogobooboo 1 0.5
24 | 0580] 6220 googoooo 1
25 | 9010 4015 googo M6x 1200 7TO 4 5
26 | 8380 2104 goooog M6 4 5
27 | 9010 401601 B ooooooswoo M6x 160 7TO 3 5
28 | 08201 5370 googooooog 1 0.3
29 | 90200 403200 B gboboobogoooswgo M8x 1600 7T 2 5
30 | 083015380 NBOODOOODOO 1
31 | 9300 0217 goog 2.5x% 16 1 10
32 | 9290 2205 goo 8x 18x 1.6 2 5
33 | 9020140330 B goooogoooswdo M8x 2000 7T 2 5
34 | 082005390 NBODOOOOO 1
35 | 90201 4032 ooooooo M8x 160 7TO 1 5
36 | 92900 9704 ooo 6% 18x 1.6 3 5
37 | 08601 8621 ooooooooo 1 0.5
38 | 90801 1236 ooooooooo M6x 12 3 5
39 | 90100401700 B goooooooswgo M6x 2000 7TO 1 5
40 | 06001 5310 googo 1 0.3
41 | 9310 1123 goooogon 4x 22 1
42 | 92901 2204 goo 6% 12x 1.6 6 5
43 | 8380 2205 goooog M8 1 5
44 | 90101401500 B ooooooooswdo M6x 1200 7TO 2 5
45 | 08201537000 1 goog 1
46 | 08201537001 2 goo 1
47 | 06101 9520 gooo 1 0.1
48 | 9530 1101 goooogno A-M6F 3

29



$
NZ
Q& < S AL
Q & QAR .
& ““‘\\ 'll,,,”” Q N
@ S ©
S5
ff,‘,)" N7
<5 Q &
e, : B 24
» B

&

(G

25 46 24

"B"OOODOO

e

30




OOo0 KMO06

00 No. ugobagd gboboooooo goooo oo |ooooyooboao

1 | 08301130 goooboooogon 1
2 | 7530 1006 oood 55B24L 1 0.3
3 | 0830 8042 ooooooboooog 1 0.2
4 | 0830 8023 oooooooooog 1 0.2
5 | 0810 8440 gooooboooog 2
6 | 0830 8470 goooog 1
7 | 9290 2204 goo 6% 13x 1.0 2 5
8 | 92000 1204 gogo M6 2 5
9 | 0830 8480 goooogooo 2

10 | 05000 7431 goooogn 1

11 | 0840 7420 goo 1 0.2
12 | 0740 74200 3 googoog 1

13 | 76000 1121 oo A12V27W(S25/BA15s) 1

14 | 0740 74200 4 gooon 1

15 | 0740 742000 5 goog 1

16 | 08200 7420 gooobooobgn 1

17 | 7600 1116 oo A12V20W(G18/BA15s 1

18 | 08200 742001 4 ooooon 1 5

19 | 08200 742000 5 oood 1 5

20 | 0830] 8581 ooooobooooo 1

21 | 0830 8705 oooooooon 1 0.2

22 | 0830 8690 gooooog 1

23 | 0820] 7170 gboooogno 1

24 | 9010 401601 B goooooswdo M6x 160 7TO 3 5

25 | 9080 122601 F gooobgoooobrwOO M5x 16 6 5

26 | 08309484 gooogoooo 1 0.1

27 | 7570 3020 gooogobooo 20A 4

28 | 757011 3030 gooogogooo 30A 5

29 gooobooboooboboo gooood 1

30 goooboobobboobooobg oboobo 1

31 | 0830 8018 goooogn 1 1.0

32 | 08601 8650 googoog 1

33 | 08601 8310 goooogooo 1

34 | 7520010040 2 goooboooboboo 1

35 | 7520010040 3 goooood 1

36 | 08601 0510 goooooooo 1

37 | 91501 100601 B gooooobooooswog M5x 20 2 5

38 | 08601 8571 oooooooono 1

39 | 92601 1204 oood M6 2 5

40 | 90801123801 B goooooswgo M6x 20 4 5

41 | 08501 8080 oooooooogo400n 1

42 | 08201 8640 gboogobooo 1

43 | 06001 8650 gooood 1

44 | 8380 2102 googoog M4 2 5

45 | 0830 8620 gbooobgooboboboboboooooog 1

46 | 08601 8670 googooboooog TK1 4

47 | 0830 8710 goooogn 1

48 | 90201 403200 B gbooobogoooswgo M8x 160 7T 1 5

49 | 9290 2205 goog 8x 18x 1.6 1 5

50 | 90101 4015 gooon M6x 12 1 5

31




$
NZ
Q& < S AL
Q & QAR .
& ““‘\\ 'll,,,”” Q N
@ S ©
S5
ff,‘,)" N7
<5 Q &
e, : B 24
» B

&

(G

25 46 24

"B"OOODOO

e

32




OOo0 KMO06

0 O No. oooDao oooooooooo ooooo o0 (Dooo|joDbboo
51 83801 2104 goooog M6
52 06101 9520 goon ¢ 6 1

33



KMO6 D0 OO0

12

A N ~
\‘/T \’E
!! .. s
| A
’ 18
AN
g r}\
Ny
Ooooooooooo
\J/
&

goooOooOo0oOoooooono

1,’..& 9-16D

34



Oo0ooo KMO6

00 No. ugobagd gboboooooo goooo oo |ooooyooboao
1 | 0830 9205 goooboooogon 1
2 | 08309132 goooovoooooo 1
3 | E000043 ooooobooooo 1
4 | E000041 gooobooobobooo 1
5 | 999901 0006 gboooboooboobgon 1
6 | 999901 0007 gbooobooobon 3
7 | 999901 0009 gboooboooboooboobod 1
8 | 999901 0010 gboooboobooobooboo 1
9 | 999901 0018 gooobooobooooboo 1
10 | 16DO3LO K010 | OO D O 090 16eDU O 1
11 | 16DO3RO K010 | OO D O 090 1eDU O 1
12 | 999901 0037 gooobgooooboo 1
13 | 16D010 K005 gooooobilebdnoonog 1
14 1999901001901 | DODOODOODOOO 1
15 | 0830 9210 ooooooooog 1
16 | 08300 9220 gooooooog 1
17 | 16D020 K010 goooboooboboo 1
18 | 08300 9232 oooooooog 1
19 | 0600 9152 gooobooobogon 1
20 | 0600J 9162 goooboooobgon 1
21 | 16D04[1 K005 oooooooog 1
22 | 0830 9240 oooooooog 1

35



KMO6 D0 OO0

ood 0oo

oo oo

|
WA@ oo

ooo [ 1vd

v0e

S =" 000] 000 [ 000 0o w -c)
: 4 0o e |+ HBoooo
o~o— oooo

]\]3]]]3]]7

,

! ! v0Z
I ! 0oo o~g——
ooomo
I— 10 v0z
o~
I
! 0o V0g

v

0000000000 7 oo

7’ 0ooooo

- i oo
ooooooood
0oo oo

L5 00000

<+
0oooo UL
do00 —
oo
ma

D

—— A A B [N NN RN .

00— |

noooogo
i yooo| [0

doo oooo
, —
00000000 0mooooon JLES omo
X 000000000
! 00000000 _
” ” ——PE et
ooooo
i ,ﬁ 0ooo ' '
, noooooooo 0
. |
, |
fafe e Conooon * @ 00mooom oo 00 o
-— oo
. oo o) 10 = = = QgOoooooo mDmDDDDDDDD - S
. . - 8d 0000 RN
! o+0 0o
3 [ 8 [IS| ol |iva
ooo Oo0oOOogoooooooo
00 -- -- -- -- -- -- -- - -- -
_ oo
|
|
ooooog 84000000 .
A
N mooooo |
Z0000000 mMSO0mO000 z0000000 gooooooooo
]
MMSO0MO0OMMS 00000
ma ] ooo
0000000000 840000 = Hoo |
A
OAZT (0 000
ma
10000000 mMS00MO00
: ¥ow | NEH
|
Co 0P

00000000 ooo0ooooo  OO00oooo oo0o0ooD

0omoooooao gooood oooo oooo oooo oooo oooonoo

36

1,’..& 9-16D




04t DM700D

OOO00O0000 e
gobooobooooogoobg ...
goddooooooooooooboobobon...
goboooboouoooooon ...
(N I I N R I PP
goboooboooooooog ...
Doogboooboobbooonog
goboooboouoooooon ...
OOO0O0O0O0 e
OOO0O0O0O0 e
oooobouoooood ..
nooodgoooooguoobood
goboooboouoooooon ...
0
oooobouoooood ..
goboooboooooogn ..

3801 39
400 41
4201 43
4411 45
4601 47

...4800 49

500 51
5201 53
5401 55
560 57

...580 59

600 61
620 63
640 65
6601 67

35

2007.7



KMO6 DD OOQOQOOnO

2007.7

36

1,’..& 9-16D




Oooooooo KMO6

00 No. ogooao gboboooooo goooo oo |ooooyooboaon
11 | 111010B800| 00O OO0O0OO0ODOOCOODOO 1 15
13 | 900410005254 |000000O0O0O0OOCOOOOOOOOOOOO(MOUODO 14
16 | 111150087807 (DD UOO0ODOODODOODOODO gooobooon 1 15
20 | 964110043000 |DODOODOO 2
21 | 964110041800 |DODOODOO 2
26 | 1112800187801 |UUOOOOOOCOOOOOOOOO |(OO0OO 6
28 | 900450020180 (OO OOOOOODOOO 1
41 | 122610087810 (DO ODOOO0ODOOODODO 1
44 | 11201087802 |OD0OO0OO0O0O0O0O0OOOOOOOOOO 1 0.2
45 | 90041076014 (DO ODOOOO 3
46 | 900420010029 (OO ODOOOOO 3
48 | 112130087801 | O UDOOOOOOOODOOOOO 1 0.2
55| 121800087801 |DO0DOOOOOOOOOOOOODOO 1
56 | 90041016364 | ODOODODO 2
57 | 90041016430 |DODOODODO 3
58 | 921220180618 | OO UOODODO 2
59 | 921320080835 |0 OO UOODOODO 5
60 | 900410016436 | D OO OODOODO 1
91 | 12281087704 |D OO OODOODO 1
92 | 122810087803 |UOOODOODOO 1
93| 916110060816 | UL OOOODOOOOO 2
94 | 900440141081 (OO OO 1
95| 916110060818 |U O OOOODOOOOO 1

2007.7

37



KMO6 DD OOOODODOOOOoOooDOon

A \
N \
\
N A
N N
— L @

w
o

1,,..& 9-16D 2007.7

38



O0o0ooooooooooog KMO06

00 No. ogooao gboboooooo goooo oo |ooooyooboaon
14 | 156010187703 |0O0OCCOOOOOOOCOCOOOOOOOC 1 0.3
17 | 11401087811 |DU0DOOO0OOOOOOODOOODOO 1
31 | 900480] 01026 |D0OOO0OOOODODOODOOOODOOCDDO 8
32 | 964110043000 |ODODOOODOO 7
33 | 111880187801 | O D OODOODOODOODOO 1
35| 157950087801 |0 0D U ODOONONo.1 1
36 | 900420050122 (OO OOOODOO 4
37 | 900420050139 (OO OOOODOO 3
38 | 900420053014 (OO OOOO 2
45| 12101087802 | DO 0DOOOOOOOODOOO oooobgoan 1 0.8
50 | 900430041028 |00 OO0O0OO0ODOOOOODOOOO |M16 2
51| 90044030275 (0O ODOO OD:24mm,ID:16.2mm 2
52 | 121510087801 (OO OOOODOOOO 1
53 | 900410020090 |0 O DOO0ODOOODOODO 17
54 | 9004100 79104 | DO DO 2
61 | 15301087812 |UDOU0OLOOODOODOOOODODO 1
62 | 114520087801 (D0 DOO0OOODOODOOO 1
64 | 118130087801 |U U DUOODDOODOODONONo.1 1
68 | 900430044011 |00 O0OOOODOOOO 1
85| 900440004147 (OO OO 1
86 | 921220060610 | OO OODOODOO 2
87 | 921220060614 | DO OCODOODOO 1
88 | 900430186122 | OO0 1

2007.7

39



KMO6 DD DOO0ODDOO0OODDODOOOODODDOO

2007.7

40

1,’..& 9-16D




O0000000O000000o0oooooog KMO06

00 No. ogooao gboboooooo goooo oo |ooooyooboaon
1] 11321087804 (DO OOCOODOODOO 1
2| 90043011327 (OO OoOooDOoOotT"OoOO 1
4| 113280087802 |UUDUODOOODOOODOODOOO 1
5] 900410020152 |00 OO0OODOO0OODOOO L=55mm 3
6| 916110060645 | U0 OODOODOOO L=45mm 2
7 900410179059 (OO0 2
8 | 91611060630 |DOOOOOOOODOO L=30mm 9
10 | 113010087803 |DODOOOOO0OOODOOOOOODOOO 1
11| 921220060614 (OO O 0OOOOO L=14mm 1
13 | 900410020087 |DODOOOOODOODOO L=16mm 1
14 | 916110060628 | DO DO OOOODOODOO L=28mm 4
49 | 113550J87801 (DD UODOOOOODOO goooo 1
57 | 11381087801 (UL OOOODOOOO 1
59 | 90043011326 | OO OODOO "T"DODO 1
63 | 113830187801 | U D UOO0ODODOODOODOO 1
64 | 91611060620 | D OO OODOODODO L=20mm 6
65 | 916120061022 | D OO0 OODOODODO 3
66 | 113120087801 | 0D UOO0ODODOOOODOODOOO 1
67 | 921220060625 |UOOOOODOO 2
68 | 9212200160828 | OO OOOODOO 2

2007.7

41



KMO6 DD DUOOOODDODOOOOOO

1,,..& 9-16D 2007. 7

42



OOoo0o0ooOooooooog KMO06

00 No. ogooao gboboooooo goooo oo |ooooyooboaon
5| 13111087805 (DO OUODOOOCOODOOONo.1 STD 3
5| 131120087803 (U DU 0D UODOODOONONo.1 ooooooo 0.25mm 3
6| 131210087805 (UL UO0DOUODOODOOONONo.2 STD 3
6| 131220087803 (UL UO0DLOUODOODOOONONo.2 ooooooo 0.25mm 3
7| 131510087805 (DO O ODOOO STD 3
7| 131520187803 | OO OO OO ooooooo 0.25mm 3
11 | 11011087201 |0DOOO0OO0OCOOODOOOOOOOO |(DQOOOSTD) 1
11 | 110120087201 |D0OOO0ODOOCODOOODOODODOOCD |0DO0OOOO 0.125mm 1
18 | 117020087801 |0 000000 OOOOOOOOOO |(@IOOOSTD) 1
18 | 11703087801 |D0UUOO0OODODOOOOUOOOOO |(0DDOOOOO 0.25mm 1
19 | 130110087805 (DO DOOOOODOODOO STD 3
19 | 130120087803 (DU OOOODOODOO oooooog 0.25mm 3
20 | 131010187811 |COC0CCOOOOCOOCOOOOOOCOCOCOODOOOCOOOD|(DOODOSTD) 3
20 | 1310200 87811 |DOCOCOOODOOOCOCDOOOCOOOOOOOOCOOOOD |ODDOO0OO 0.25mm 3
21 | 961510001800 |DODOODODO 6
22 | 13201087801 (00O OO0ODOOO0DOOCOOOODOOO 3
25| 13202087204 |000OOOOOOOOOOOOODOCOD |(ODODOSTD) 1
25| 13203087204 |DO00OOOODDOOCODOOOOOOO |ODDOOOO 0.25mm 1
26 | 13265087205 |UOOOOOOOOOOOOO 6
27| 900410702901 (OO OOOOOOO 6
28 | 134050087807 (OO OOO0OODOOOOODOOOO T=27mm 0O0O0O 1
34| 13401087809 (DO O0OOOODOOOOODOOOOO ooooboo 1
54 | 13453087104 | DO O0OOD0OODOOOOODOO 1
55| 900410005221 |UDOUO0OOOOOOOOOOOODOOODO 6
58 | 13471087803 |U DO UOOLOOOOODOOO 1 0.3
59 | 900410005286 |000DDOOO0OOOOOODOODOOOO 1
62 | 135210087803 | OO OODOODODO goooog 1
64 | 900420054074 |D0DODOODOODOOO 1
65 | 900420080031 |D OO OODODO 1
74 | 13041087204 |D 0D O0ODODOOOODOODOOO 3
75| 13581087801 (UL OOOODOOOOO 1
76 | 135080087803 (UL UOOOODOOOOOOOOOO oooooog 1
77| 135720087801 |D OO OO0ODOO0ODOODOODOO 1
78 | 900410005220 |DO0OOODOOOOOOOOOODOOO 2

2007.7

43



KMO6 DD OOOODOOOOO

53 VUPT LN
=R

28

24
23

1,’..& 9-16D 2007.7

44



OOoo0o0ooooood KMO06

00 No. ogooao gboboooooo goooo oo |ooooyooboaon
15| 135110087802 (DO DO OODO 1
19| 135710087801 (DD O ODO0ODOO0OOODOOO 1
20 | 91611060618 | OO OODOODODO 3
21 | 13523087807 (U U0 DODOODODOOODOOO 1
23 | 13711087803 | OO OODODOO 3
24 | 137150087803 | OO ODOOODOO 3
25| 13751087801 (OO OOOODO 6
26 | 13781087804 (UL OOOODOOOOO 6 1.0
28 | 13734087801 |UDOOOOOOODOOOO 6
29 | 900480112020 | DO OODOODOOOOODOO 6
32 | 13741087702 |D 0000 DOODOODOOO 6
33| 900480013006 | UL OOOODOUOOOODOOOOO 12
34| 900450001632 (UL OOOODOOOOOOODO 6
35| 137160087802 | DO D OODOODODO 6
40 | 138110087802 (DO O DOODOODOO 6 0.8
42 | 900481115009 (DO ODOO0ODODOODOODO 6
43 | 941300 60600 | D OO 6
46 | 139010087801 |DOOOODOOOOUOOODOOOOOOO 1
47 | 90041019765 |0 O ODOOOOOOOO 1
49 | 900420080033 (DO ODOOOOO 1
52| 139510087801 (OO OOOODOOOOO 3
53 | 961500001000 | DO OCODOODOO 2
54| 900420001699 | OO OOOODOOO 3
55| 900450001700 (OO OOOODOOOOOOODO 2
56 | 941300160800 | O OO 3
57 | 139580087801 |UDOUDOODOODOODOODONo.1 1
59 | 946110010800 | O D OODODOO 3
2007.7

45



KMO6 DD OOOODODOOOOoOooDOon

\
\
N
=477 by M| / \
S®

|
=477 by MES R

1,,..& 9-16D 2007.7

46



O0o0ooooooooooog KMO06

00 No. ugobagd gboboooooo goooo oo |ooooyooboaon
11| 161000087803 DO OOOOOODOOOO 1 0.5
16 | 135190087803 (DD OO0DOODDOOODOODO 1
17 | 900410020085 (DD OOODOOO0ODOOO 1
19 | 151400087801 DO O0OOO0OO0OOOOOOOOOODOO 1
35| 151490087801 |DO0UOOOOODOUOLOOOOOOODO 1
51 | 900410079059 | D OO 2
52| 900410020088 |ULOOOOODOOOOO 1
60 | 15131087201 (OO OOOOOOOOOOOO 1
61 | 900450001519 (OO O0OOOOOOOOOOOO 1
62 | 90044030186 |U DO OO O 1
63 | 151330087801 |DOOOOO0OO0OOOOOOOOOO 1
71| 16271087801 | UL OO0 ODOOOOODOO 1
73| 16371087801 (U OOOODOOOO 1
74 | 900410079052 | D OO 2
75| 916110060850 | D OO OODOODODO 2
80 | 900430045010 |ODOODOOUDLDOODODODOOOODOOO 1

2007.7

47



KMO6 DD ODOO0OODDOOOODDOOOOO

3o~—\%\ §\

N ZZ—BE—RQFINEZ— 2SR

916D 2007.7
Ire

48



OOooooooooooooooogo KMO06

00 No. ogooao gboboooooo goooo oo |ooooyooboaon
5| 16321087801 |DOOUODOOOOODO 1
6| 163250087801 (DO ODDOOOOODOODODO 1
10 | 916110060620 | OO O ODOODOOO 2
23 | 16331087804 | OO OODOODODO 1
25| 163410087801 | OO UOO0ODODOODOODOO 1
27 | 900480033057 |DODOOODOO 1
30 | 91611060620 | OO OOOODOOOOO 2
31| 163610087802 | O OO 1 0.3
32| 900410020090 OO OOOODOOOO 4
33| 900480032124 (OO O "v" L=925mm 1 0.1
44 | 90041020064 |DOODOOOOODOODO 1
46 | 163810187809 (OO O0ODOOOOODOOOOOO 40A 1
49 | 90041019743 (DO UODOOOOOOODO 40A 1
60 | 164000087809 |0 OOOOOOOOO gogo 1 2.0
63 | 165020087703 | U DUOOOODOODOO 1
65 | 165030087803 |IDOOOOODOOODODODODODO 1
66 gooooooboo gogno 1
68 | 163350087801 |0 DODOODOODOODOOO 1 0.2
69 | 162620087801 |UOOOOOOOOOODOO 1 0.3
70 | 90044067194 |0 DO OO 1
71| 900430139069 | O OO 1
72| 90044067306 | OO OO 4
75| 90044067370 | OO OO 2
76 | 16401087711 |UDOOOOODOODOO 1
77 | 900440145526 | OO0 1
78 | 90044047066 | D OO 1
79 | 90044046721 | D OO L=660mm 1
80 | 900410068029 (OO D ODOOODOO 1
93 | 165290087702 |00 DUOO0DOODOODOO 1
2007.7

49



KMO6 DD DUOOOODDODOOOOOO

1,,..& 9-16D 2007. 7

50



OOoo0o0ooOooooooog KMO06

00 No. ugobagd gboboooooo goooo oo |ooooyooboaon
11| 17510087806 (DO O ODOOOOODO 1 0.5
12 | 17451087807 (U DO ODO0ODOO0OOOOO0O 1
13 | 17451087807 (U DO ODO0ODOO0OOOOOO 1
14 | 90041079123 |0 OO 8
17 | 17101087801 |ODOO0OO0OOOOOCOOOOCOOOOOO 1
20 | 175220087801 |0DODOOOOOOOOOOOOOOOOON..2 1
21 | 175210087801 |ODODOCOOOOOOOOOOOOOOOON.L 1
22| 58333087801 |UOOOOOOODOOOO 1 0.3
23| 916510GO616| DO OOOODOOODOO 1
24 | 900410009232 |0 O OO 6
25| 946120010601 (OO OOOODOOO 6
29 | 17141087803 (U O OOO0OODOOOOODOO goooogo 1 0.6
42 | 171730087802 |DUOCOOOOOOOOOLOOOOODOOODO 1
47 | 171770087802 |D0OODOOOOOOOODOOOOOOOOO 1
51 | 900410079059 | O OO 2
52 | 91611060620 | D 0D OODOODODO 1
53 | 90041020150 |D 0D OODOODODO 3
54 | 941850060800 | D OO OODOO 6
57 | 900410016323 (OO OOOODOO 4

2007.7

51



KMO6 OD0ODOOOOO

9-16D 2007.7
Ire

52



Oo0ooooo KMO6

53

00 No. ugobagd gboboooooo goooo oo |ooooyooboaon
18 | 177000187802 |DUODOOOOOOOOOODDOOOODOO 1 0.2
19| 44717087801 (0D O0DOODOOOOODO 1
20 | 178810087804 |U OO ODOODOO 1 0.3
22 | 446730087801 | 0D UOODOODOODOO 1 0.1
25 | 900440068277 |0 OO O 2
2007.7



KMO6 OD0ODOOOOO

1,’..& 9-16D 2007.7
54




Oo0ooooo KMO6

00 No. ugobagd gboboooooo goooo oo |ooooyooboaon
27 | 198500087801 (DO OOOODOOOODOO 3 0.2
33 | 19871087801 | OO OODOODODO 1

2007.7

55



KMO6 DD DOOOOODDOOOO

1,,..& 9-16D 2007. 7

56



OO0oooooooood KMO06

00 No. ugobagd gboboooooo goooo oo |ooooyooboaon
14 | 953310004019 |DO0OOOOOOO 1 0.1
21 | 1117e0dJ 87702 | 0D OODO0ODOODOODOO 3
27 | 236000087801 |U 0D ODODOODOODOOO 3
53 | 23628087702 | U DUOO0DOODOODOOODOOO 3
59 | 236540087701 |00 DOOO0O0OO0OOODODOOOOO 3
67 | 237600087801 |DO0O0OOODOOOOOOOOOOOO 1
75| 961320041000 OO OOOODOO 2
2007.7

57



KMO6 DD OO0 ODDODOOOODDOOOOOooO

9-16D 2007.7
Ire

58



O00ooooooooooooooog KMO06

00 No. ogooao gboboooooo goooo oo |ooooyooboaon
11| 22100087816 (DO DOODOOOOUODOOOOOOODOO 1 15
12 | 903010149003 OO OO"O" 1
13| 228110087801 (U0 OODO0ODOO0OOOOOO 1
15| 226260087803 (DD O ODO0O 1
18 | 900990113018 |00 ODOOOO 1
20 | 901790008022 | O[O 2
23| 900410020085 (OO OOOOOOOOO 4
25| 22149087702 |D0ODOOO0ODOODOODOOO 1
27 | 22128087701 |0 0O0OODODOOO0OOODOOOOOO 1
32| 23701087801 |00O0ODOODOOOODOOOODODOONOL 1 0.2
35| 237020087801 |0UOODOODODOODODOOODODOONO2 1 0.2
38 | 237030087801 |0UOOODOODODOODODOODODOONOS 1 0.2
50 | 23741087701 (00000000 DOOOOOOOOONoL 1
51 | 90041070263 |U OO OODODOO 1
53 | 237420087701 (000000000000 DOOOONO.2 1
54 | 91611060620 | D 0D OODOODODO 2
89 | 264370087801 |0 DOODOODOO 1
90 | 93385015020 | OO OODOOOODO 1
95| 09647011001 |ODOODOO 1

2007.7

59



KMO6 DD DUOOOODDODOOOOOO

2007.7

60

1,’..& 9-16D




OOoo0o0ooOooooooog KMO06

00 No. ugobagd gboboooooo goooo oo |ooooyooboaon
11| 23300087723 |DO0DOOO0O0OOO0ODOOOOODOO 1 0.3
17 | 23301087704 | 00000000000 O0O00O00O0O0O 1
23 | 23303087781 |DOOOOODOODOOOOOOOOOOOOODO 1
60 | 22351087701 |0 O0DOOODOODOO 1
61 | 22353087701 |DO0DOODOODOO 1
79 | 844610087707 |DODOOODOODOO 1
80 | 23344087702 (OO O0OOOODOOOOO 1

2007.7

61



KMO6 OO0

2007.7

62

v*t 9-16D




OOo0 KMO06

00 No. ugobagd gboboooooo goooo oo |ooooyooboaon
11| 270600087212 | DO00OOOOOOOOOO 40A 1 0.5
13 | 900410019623 (DD OODOOO0ODOOO 40A 1
15| 281000B8010 | DO ODOOODO0 1.2kW 1 0.4
17 | 12511087804 (DD OODOO0ODOOOOO 1
20 | 916510061028 | OO O ODOODODO 2
21 | 90041079109 | OO 40A 1
22| 916110060825 (OO OOOODOOOOO 40A 2
23 | 900410179059 |0 OO 40A 1
27 | 835300087208 |D00OOOODOOOOOOOOOOOOO 1 0.1
29 | 834400187801 |DOO0OOODODOOOOOOOOOOO 1 0.1
40 | 285210087802 (DD UODOOOODOOODO 1
55| 286100087801 (UL UOOOODOUOOOODOOOOO 1 0.1

2007.7

63



KMO6 DD DOOOOODDOOOO

1,,..& 9-16D 2007. 7

64



OO0oooooooood KMO06

00 No. ogooao gboboooooo goooo oo |ooooyooboaon
12 | 27314087502 |DO00OOOOOOODO 1
17 | 273100087209 | O0UO00CO0OOO0OCOOOCOOOOODOCODDO 1
20 | 274430087501 | O0DOOODODOO 1
23 | 27791087702 |0 O0DOO0ODODOO 1
24 | 277950087501 |DO0DOOODOODOO 3
25| 27312087705 |0 OO OODOODOO 1
27 | 27792087501 | OO OODOOOODOO 4
30| 27793087501 (OO OOOODOO 2
31| 27330087210 |UOO0OOOODOOOOOOOOOO 1
33| 27791087701 |OOOOOOOOO 1
35| 270390087201 (OO OOOODOOO 1
36 | 22383087703 | OO 1
37| 27314087703 |0 OO 2
39 | 2735900 87207 | 00DODODOO0O0OCDDODDOOOOODODOO 1
47 | 27357087206 | DO 0O00DO0OO0OODOO0DOOODOOOOO 1
51 | 273700087205 |JO00OO0ODOOOOOOOOOODOOOO 1
53 | 27371087501 |00 DOODOOODOOO 2
57 | 27372087501 | OO OO0ODOOO0ODOOOODOO 2
60 | 27387087204 |UDOOOOOOO0OOOOOONo.2 1
63 | 27411087704 (D0 DOODOOODOOO 1
64 | 27412087209 |0 0O O0ODOODO 1
66 | 27795087701 | DO O0OOOODOOOOO 2
68 | 27794087502 |DDOOOOOOODOOO 1
92| 933190014025 (DO O0OOOOOODOODO 2
107 | 27794087501 |0 O OO 6
108 | 277000087209 | DUODO0DOO0OOODODODOOOO 1

2007.7

65



KMO6 DD OOOOOooDOoooono

1,,..& 9-16D 2007. 7

66



O0000oooooooono KMO6

00 No. ogooao gboboooooo goooo oo |ooooyooboaon
11| 28011087801 DO OOO0OOCOOOODOODOO 1.2kw 1
21 | 28110087804 |0COOO0ODOOOODOODOOCOODODO|1.2kwW 1
22 | 282720087802 |0 OO U 1.2kW 2
33 | 281200087802 |U U0 DODODOODOODOOO 1.2kW 1
39 | 281300187804 | DUODODODDOOCOODOODOODOOOD |1.2kwW 1
53 | 281400087802 | DU OOODODODODOOOOOOOOO 1.2kW 1
54| 28176087701 |UDOOOOOOODOOOO 1.2kW 2
57 | 28143087802 | U0 OOOODOOOOODOO 1.2kW 4
59 | 2815000187802 | OO OOOOOOODOODOODODOO |1.2kw 1
61 | 281600087802 |UODOOOODOOOODOOOODOO 1.2kW 1
62 | 28273087701 |DOO0@OOOODOOOOO) 1.2kW 1
64 | 282530187803 |DOUOO (@OODODOOOCOOOO)|1.2kw 1
66 | 28253087802 | DUOOOO (OOCUOOOOOO) 1.2kw 1
80 | 282290087801 | U D UOODO0ODOODOODOO 1.2kw 1
81 | 282540J87801 | OO OODOODODO 1.2kW 1
83 | 2827200187801 | OO OODOU 1.2kW 2
94 | 28228087701 (U0 DODOODODOOODOOO 1.2kW 5
95 | 2828200187701 | OO 1.2kW 1
96 | 281650187801 (U DO ODOO 1.2kW 1
185 | 282840087702 |OO OO 1.2kW 2
2007.7

67



good newdays

ARBSLWELWLRER S

Prt

ooooo
ooddooooomod
(]

0105-00130 00000 0O O 1-2-150
TELO 0305425-18321 0 0O 0OC
Hoo DoDooOoOoOooOOO

KPL- KMO6





